ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN

TRAINING SCHEME (CTS)
Trade Name: Draughtsman Civil
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

QID Question Body and Alternatives

Trade Theory

1 What is the name of the rock that marble is extracted?

I9 I &1 1 A1 § Fore Arefet Faprer S g9

,Al Metamorphic rock

. g
4A2 Foliated rock

4A3 Sedimentary rock

A4 Igneous rock

ST ggH

:Tr_ade:T heory

2 What is the name of stone dressing finish shown in the figare?

ot 7 feame T e SR fibfer 1 AR

DCA120411

Al Boasted finish

CIRSCatgEr]

{\2 Hammer finish

R s
,A3 Reticulated finish
Aepacs i
‘A4 Polished finish

BISESIRIER

Trade Theory
3 3 What is the name of the symbol shown in the figure?

RISREARIEESIR

2.0

2.0

Negative
Marks

0.00




UL
v

,Al Cutting

BT

{%2 Embankment

Yot
Culvert

PHedc

A3

A4 Bridge

forst

Trade Theory
What is the name of the scale that is denoted by 5 : 1?

I BTAH R B 5 1 A e g?

.Al Full scale

Bd W
4A2 Plain scale

o W

A?’ Reduced scale

Regss wa

54 Enlarged scale

P /)

Trade Theory

‘What is known as the capacity of material to,permit water to pass through it under pressure?

ot verd ot gara & U B TR TORA o B & B T FHYT oIl 87

Al Durability

fewrauq

52 Permeability.

RN
{\3 Porosity

TSI
:A4 Ductility

REISIEE|

Trade Theory

Which test is conducted to know the classification of lime?

T BT IR S F 1T 1 1 uleror fovam wiman 82

A

! Ball test
CISEAS
{\2 Visual test
fage@ o
:A3 Impurity test

IR ¢

2.0

2.0




A4 Workability test

Trade Theory

Which BIS code no is recommended for folding of drawing sheets?

SIS 2IC B Hies P & Y 64 BIS IS 1 RebHS B &7

Al 1S 11664 - 1989
IS 11664 - 1989
f\z IS 11664 - 1987

IS 11664 - 1987
A3 15 11664 - 1986

IS 11664 - 1986
A% 1S 11664 - 1981

IS 11664 - 1981
Trade Theory

What is the untrimmed size of A5 designation drawing sheet?

SFFTE A5 ATH &1 SIS e T TRIa SMHR FT 82

Al 450x 625
450 x 625

A2 330 x 450

330 x 450
A

3 240330

240 x 330

A% 165 x 240

165 x 240

4 Trade Theory

What is the projection if the receding lines are drawn toJé"scale?

Ife STl X@T 1> el IR SRIEA &1 ol ol 82

:Al Cavalier projection
FARRR o

:A2 Cabinet projection
CICE At SERGS

:A3 Clinographig,projection

[ESRIPITERISCRE]

A4 Axonometric projection

TS o
Trade Theory

‘Which quadrilateral has all the sides are equal and angles are not at right angles?
g gy & Tt Yo 99 § SIR 10T gHe o R e 82
:Al Rhombus
[ELEEal
:A2 Trapezoid
JHAHE
é?’ Rectangle
SIATDR
A4

. Rhomboid

IELECaW

2.0

2.0

2.0

2.0




Trade Theory

Which rock has main content of calcium carbonate?

g Tg A Biexgn Brale o) g A gl 82

Al Argillaceous rocks
ffaRma e
{%2 Siliceous rocks
RycliRre Ao
.A3 Foliated rocks
BIfues b
4
Calcareous rocks

Fep3 Ah

A

Trade Theory

Where the plan is placed in third angle projection?

Y Wt UIoia § @i &) el 3@ T 87

{M Below elevation

NEREEEE]

.A2 Above elevation

TR & SR

‘A3 Left of elevation

NIERER v

.A4 Right of elevation

SIERIEERE
"1:rad_E Theo_1;y -
What is the property of material to absorb water vapour fromir?

IR AT P AN R b1 Teref BT 0 T 22

! Hygroscopicity

S ERIDIEG)|

‘AZ Water absorption

T SHARITOT
,A3 Permeability

URIT=AT

A% Durability

Trade Theory

Which test is conducted on stone to study minor constituents grain size?

TSR HITUC I TTSS BT ST R & U T W HH |1 I a1 Srar 82

! Freezing

,A3 Microscopic test

TS5 DI

{\4 Hardness

GEER]

Trade Theory

Name the process of removing about 20 cm depth of soil to a certain area for manufacturing of brick?

2.0

2.0

2.0

2.0

0.00




g & fmfor & o ues M & 3 g & T4 20 om TERTS &I M &1 UfthaT &1 11 Ja8w?

{M Unsoiling
.AZ Tempering

SR

‘A3 Blending

,A4 Cleaning

FRT

Trade Theory

Which cement is more suitable for the construction of chemical plant and furnace?

Hitra wic 3R B & o & g 1 0 Wee i Suge &2

.Al Expanding cement
N

‘AZ High alumina cement

BTS Tegfir e
,A3 Extra rapid hardening cement
:A4 Hydrophobic cement

EESIRAICEAIE

Trade Theory A

How the unidirectional system of dimensions are read in engineering.drawings?

oo g & SRAR B gReERaRMT Rved & 39 UeT Sl s?

{%1 From the top of the drawing

SRR
:A2 From left side to right
Y 3R ¥ g 8k

,A3 From the bottom of drawing

SEUCEIER
.A4 From right sideso left
ol ok & ORI SR
AN Trade Theory

Which s;:;e 18 gienerally used in MAPS?

MAPSH AR TR 5T Thd &1 ITTNT {1 e 82

1:100

1:100

—_

:10000

—

:10000
A4

11000000

Ju—

11000000
Trade Theory

How many grades are there in a portland cement?

Uicds e # fra IS g 72

2.0

2.0

2.0

2.0

0.00




20

21

22

23

20

21

22

23

{M 2 grades
238
.AZ 3 grades

3US

‘A3 4 grades

493

5 grades

5US

A4

Trade Theory

Where is the rear view placed in first angle projection?

T WTE UISiaRH B RER o Sl 3T S 82

.Al Right side of right side view

1 SR & T BT IR U
‘AZ Bottom of elevation

TferaR= &1 =@ |
Al

i 3 Left side of right side view

TS 3R & T2 BT I U

{%4 Top of elevation

Gars &1 it
Trade Theory

What percentage of gypsum is added in the manufacturing of cement?

didfe & fmior & Ry o1 fod ufa=rd freman S g2

Al 0%

7-10%
:A2 5-7%
5-7%
A3 49
3-4%
Aty oy,

1-2%
Trade Theory

Which BIS codeisirecommended for Engineering drawing practice ?

Sohfrafen S difded & g &1F a1 BIS BIs SR 82

AF15:.9069 - 2001
1879069 - 2001
A2 15: 11662 - 1983
IS: 11662 - 1983
A3 15: 962- 1989
IS: 962- 1989
:A4 IS: 10711 - 1986

IS: 10711 - 1986
Trade Theory

What is the name of the given architectural symbol shown in figure?

o o femme U s edRa Ryvardt &1 AMH =1 82

2.0

2.0

2.0

2.0

0.00

0.00




,Al Sink
Rie

.AZ ‘Wash basin

CIRGIGE]
:A3 Toilet

Trgae
A4 Bath tub

EIRKE)
Trade Theory

What is the name of the given architectural symbol shown in figure?

o1 7 famy U e edeR Rige &1 A @1 82
C

|
L

1
Gas stoves

BRSicH

2 Closet

ERINH

‘A3 Shower

Al

o

{%4 Square dining

TR ST Z .

Trade Theory

What is the name of the given arc]itecrural symbol shown in figure?

o # femm g shfhe R a R &1 H =1 82

S

EEE

AI Floor plan symbols

TR @ Riea

‘AZ Data/Commas/TV symbols

STerB YTV T
53 Lighting symbols
e R
{\4 Electric symbols

gafdes Riga
Trade Theory

What is the name of the triangle that has three unequal sides and angles?




27

28

29

27

28

29

I B 1 71 A1 B Rt i Yot 3R Y07 o 82

{M Scalene triangle

fyag Hepror

.A2 Isosceles triangle
‘A3 Equilateral triangle

SECIFECIW

.A4 Right angled triangle

DI Ay

Trade Theory

What is the name of the line shown in figure?

forr & feaTs 8 ArgA HT AT TR

é&;

,Al Perpendicular line

ESCRESE]]
.AZ Curved line

g T

.AS Inclined line

oI gE(EITS) Xl

A4 porallel Tine

THFTR YT

What is the name of the diagram shown in figure?

R ey U ST BT AT T 82

: N T_r_ade Theory

{M Trapezoid
TS IgHS

.AZ Rhombus
BRERLTS

4AS Trapezium
HJHIE

4A4 Parallelogram

TR TgHs

What is the sum of the interior angle of Hexagon corresponding to the external angle?

WEHHIUT I TR BTV b T AR HI0 BT TRT T 32
Al
. 270°

270°

Trade Theory

2.0

2.0

0.00




30

31

30

31

{%2 90°
90°
{%3 120°
120°

A4
. 180°

180°
Trade Theory

What is the method of dimensioning shown in figure?

o & ouifs 78 SR My Bt Ayg | g

.3 =

—l=

30

5

&
| pevramaan

,Al Aligned system

3RS Rey

52 Unidirectional system

SRR Ried

A3 Chain dimension

ERECRERE
A4 Parallel dimension

e STHTA

Trade Theory

What is the name of thexdiagram shown in figure?

o & feame WY s ST Am | g

:Al Square
I

sz Rectangle
HIATPR

.AS Trapezoid

2.0

2.0

0.00




32

33

34

35

32

33

34

35

BEREERET
{%4 Rhombus

TGS
Trade Theory
What does the factor 1:1 represents?

Thaex 1:1 1 i 82

:Al Enlarging scale
TSN e
{\2 Reducing scale
fregfRim e

{B Full scale

B W
{%4 Chord scale
Pis Wha
Trade Theory

What does the factor 2:1 represents?

Thaex 2:1 T G 82

él Enlarging scale
TS e
:A2 Reducing scale
frsgfim wa

.A3 Full scale

B Whd
{%4 Chord scale

PIS W

" Trade Theory

Which scale is used in the Isometric projection?

AR Toie # g Wpa 1 IUAN fpar ST 82

:Al True scale
Twhd
:A2 Isometric scalg
SR Wt
:A3 Vernier,scale
IR
:A4 Chord scale
Pis W
Trade Theory

Which projection has projector from the object parallel to each other and incline to the plane?

T TioiaR H sfisoiae U Mo U o & SR 3R @ &1 3R gob 8id o2

1 . —_—
Isometric projection

SHTFHRAIES Wola
:A2 Oblique projection
Sifsies drotaRr
fu Orthographic projection

3fifnfre weeRE

2.0

2.0

2.0

2.0

0.00

0.00




36

37

38

39

36

37

38

39

A4 Isometric view

MEEAfeH ToiaRr
Trade Theory

Which projection has projector from the object perpendicular to the plane?

o TiioiaR H sffeoide & TiF q UIoide? dead ol 67

1 . "
Isometric projection

SIS W=
52 Oblique projection
3fffeeiep o
{%3 Orthographic projection
3ifathep ierer
é4 Perspective projection

Rfufdea wioleRE

Trade Theory

Which is the other name of the perspective view?

Hufded o T @RI H T g7

Al Photographic view

Plefhe &

A2

Oblique view
3ffeeteh o
A3 -

.~ Isometric view

gD o

{%4 Orthographic view

SHTThe &,

Trade Theory

What will be at the same height as that of stationdpoint anid*will lie on the horizon line?

R g & THH a8 W 1 B R st SaETReH amg) W Ry g

{M Focus

BIHY
.AZ Vanishing point
g fag
:A3 Eccentrieity
bl
:A4 Station point
war fig
Trade Theory

Where should be the left side view drawn at 3rd angle projection in relation to elevation?

TfRIIRH & Taie B 3rd WIS & TIORM R AU T15S 3 FHel g1 faan ST afe?

él Above the elevation

TR ¥ W

.AZ Below the elevation

UREREEEIE]

,A3 To the right of elevation

TferawH ¥ e 3R

.A4 To the left of elevation

2.0

2.0

2.0

0.00

0.00




40

41

42

43

40

41

42

43

TRARE & A SR
Trade Theory

Where should be the left side view drawn at 1st angle projection in relation to elevation?

TR & Ty T 15t T P TOHRMA R AUC WSS T BT g1 fbam T Aiey?

Al Above the elevation

TR A IR

4A2 Below the elevation

UREEEEEIE]

A?’ To the right of elevation

uferdw & g 3R

{%4 To the left of elevation

UREREECIEEE
Trade Theory

What is the water absorption percentage for bricks?

£t & fore o oo ufewrd @ 82

Al 6%

<16%

A2 309
<30%
A3 s50%
>50%
A% S350,
>35%

r 'E'ad_;_ Theo_;y

What is the recommended slumps of concrete for road construction?

Teo fmiu & R depie Bt iR WU e?

Al 4010 50

409 50
f*z 70 to 80
70 ¥ 80
f“ 30 t0 40
309 40
A% 201040

20 T40

Trade Theory

What is the part marked as X shown in the figure?

R ¥ R U X & wu § Rifgg ym e g2

Bo11E

2.0

2.0

2.0

0.00




44

45

46

44

45

46

{M Blocking course

e B
2 Cornice
e
:A3 Corbel

Hied

{%4 Lintel

fefea

Al

Trade Theory

What is the part marked as X shown in the figure? 2.0

o # feme U X & wu # Rifgd w82

Doriama

Al Corbel

Prac
2 Cornice

B

{83 Blocking

ilichT
.A4 String

Sl

X

Al

Workshop Calculation and Science

Which metal'containsiiron as a major content? 2.0

0 oo g ¥ v ARl & &0 F et 8l 82

{M Brass metal

dia e1g
.AZ Bronze metal
EIEERIG

.A3 Zinc

i
{%4 Ferrous metal

e uTg

Workshop Calculation and Science

Which property of metal has its power of returning to its original shape after the applied force is released? 2.0

&Tq 1 BT T[0T 6 T TR AT TUT 96 g IR TN 370+ Gaiaen 3 S & ST 3@l 82

.Al Malleability




fraTaaeaar
{\2 Tenacity
<edl
:A3 Elasticity
UIARAAT
fx4 Plasticity

oI

Workshop Calculation and Science

Which among the following is an insulator? 2.0

Frafied ¥ 4 &1 T puras 82

{M Copper
GIEL

.AZ Aluminium L

TegHEH
A3 .
- Silver

G

.A4 Mica

ECal

Workshop Calculation and Science

What is termed as the quantity of matter contained in a body? 2.0

g & AR v & 7 % 9 FeT ST 82

! Density
Ydd
‘AZ Volume

STIdA

,A3 Mass

SHHAT
.A4 Specific gravity

fafke Te@

Workshop Calculation and Science

What is called mass/per unitivolume of a substances? 2.0

ol Terd & SeaAR U 3HTE ST &I T HEd &2

{%1 Mass

SOgHTA
:A2 Weight
HR
:A3 Density
R[]

{\4 Volume

SIdT
Workshop Calculation and Science

What is the S.I unit of heat? 2.0

ST B T3S, SHTS T2

{M Calorie

Calorie




51

52

53

54

51

52

53

54

Al

2 Joule
Joule
:A3 Centigrade heat unit
Centigrade heat unit
:A4 British thermal unit

British thermal unit

Fill in the blank with correct word. “They

Raa & 98t e W1 “They good friends”

Al .

A2
~ 7 am
am
A3
. are
are
A4
© was

was

Fill in the blank with present progressive tense of the verb. “The train

fopar 3 g wTfo=ita Set & I1Y Rad RIF R | “The train

{M passed
passed
A2 . .
~7 is passing
is passing
.A3 had passed
had passed
A4 .
. was passing

was passing

Fill in the blank with proper interrogative adjective.

I SeRMIfea fa=r & T Raer =M R |

,Al Who
Who
:A2 Where
Where
{\3 Which
Which
{%4 ‘What

What

Fill in the blank with proper pronoun. “I made this cake

Employability Skills
good friends” 2.0

Employability Skills v o

through.the tunnel”” 2.0
through the tunnel”

Employability Skills
are you going? 2.0

are you going?

Employability Skills
» 2.0

o = § Ifrd T & 1Y HR 1“1 made this cake »

! myself
myself
2 yourself

yourself

0.00




55

56

57

58

55

56

57

58

{B himself
himself
{%4 itself

itself

Employability Skills

Fill in the blank with proper pronoun. “She made this cake

o = & Iy TdH & 1Y 431 “She made this cake

{M itself

itself
2 myself
myself
é?’ herself
herself
:A4 himself

himself

”»

»

Employability Skills

Fill in the blank with proper reflexive pronoun. “She has hurt

e = o I ufaadt Td=m & I1y 131 “She has hurt

! myself

myself

sz herself

herself

A3 himself

himself
itself

A4

itself

”»

2

Employability Skills

Fill in the blank with suitable adjective forthe given sentence “The little girl’s...... eyes revealed her mischief”

%Q Y AT & 1%111 [SERCH] fo=ivor 35 1 e =ITT WX “The little girl’s...... eyes revealed her mischief”

‘Al chubby
chubby
.A2 weak
weak
{\3 short sighted
short sighted
A4 twinkling

twinkling

Employability Skills

Fill in the blank with suitable place preposition. “My house is

IO R Gt & A1y e I W | “My house is

{M at

at

A2 .

A3
~7 on

on

the third floor”
the third floor”

2.0

2.0

2.0

2.0

0.00




59

60

61

62

59

60

61

62

{%4 under
under
Employability Skills
Fill in the correct question word. is the speaker at the function?” 2.0
T Uy g W « is the speaker at the function?”

A

! What

What

‘AZ When

When

.AS Why

Why

A4 Who

Who fl
Employability Skills

Low level language is also called . 2.0

TR B UM B 1t ST ST

1
source code

RISEIS

{\2 middle ware

HEARY

A3 .
.~ machine language

EENIERY)
4
assembly language
et UTST
Employability Skills

Pronunciation refers to . 2.0
IR @I Taffd Harg
{M diphthong
HYad TR
2
consonant
EIEE
3 .
punctuation
[CREACES
4 production of sound

@ BT IaTeT
Employability Skills

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”. 20

el & Fafefad S & Irde areg § b § Fafyd B3| “teacher / school / worked / she / a / as”

{%1 School worked as a she teacher

School worked as a she teacher

Al

2 She worked as a school teacher

She worked as a school teacher

53 She teacher worked as a school

She teacher worked as a school
A4

-~ Worked she as a school teacher

Worked she as a school teacher

0.00

0.00




Employability Skills
63 63 Rise and fall of pitch of voice is called

TaTS Y g &1 I3 iR AR ﬁ?ﬂ?ﬂ%

Al
~ vowel
IR
2 intonation
IO hT IdR-deld
3
consonant
S
4 L
pronunciation

R
Employability Skills

64 64 The word that expresses a sudden and strong feeling is called

! punctuation
[ENEIEES

2 interjection
[ERRIEEIRC

3 L
conjunction
TS & ¥

4 apostrophe

Employability Skills

65 65 When you greet higher official’s such as Teacher, Instructor of Supervisor, you should use

ST 310 Refep, UfRieies a1 Utaes S S STRBIRY] T SHfiaTe ed 8, dl Suh!

él Good morning
Good morning

Al

2 Hello

Hello

53 Hey

p Y Employability Skills
66 66 W:hich {s aisilent letter in the word “ANSWER”?
“ANSWER” ¥eq ¥ 11 |1 b 31&R 37
M
R
A g
E
Mg
S

M w
w
Employability Skills

67 |67 Which one is a “Do’s” of discussion etiquettes?

=i & RIVERI § B9 91 “Do’s” 82

%rr{crcmmm%u

2.0

2.0

2.0

2.0

0.00

0.00




68

69

70

71

68

69

70

71

:Al Loose your temper
S{TT ST @Y

:A2 Listen to others
[SRENE

A3 Talk about irrelevant details

ST faaRuT & IR # &1 B
A4 Use impolite or rude language

S1YE T RIT UTST BT FUTNT Y

Which one is a “Don’t” of discussion etiquette?

i fRIPER &7 “Don’t” 82

Al Be open minded

e g @

{\2 Use moderate tone

T TR BT TR P
{B Listen to others
A4
~ Argue unnecessary
ST T6YH B

Which one is a brain of computer?

PR BT AT DI 122

A

! Keyboard

CiCIS

CPU

drdig

A2

‘A3 Monitor

AR

A% Hard disk

8@%@7

Which one is an exelamatory sentence?

oI 1 sy a g2

A

I What a beautiful house it is!

What a beautiful house it is!

.AZ It is a beautiful house.

It is a beautiful house.

.AS Is it a beautiful house?

Is it a beautiful house?
A4

-7 Your house is beautiful.

Your house is beautiful.

Which one is in active voice?

Ty el § P A e?

Al Ram has passed the exam.

Employability Skills

Employability Skills .

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00




72

73

74

75

72

73

74

75

Ram has passed the exam.

‘AZ The ball was caught by him.

The ball was caught by him.
A3 .
_7 The book was being read by her.
The book was being read by her.
A

X 4 We were driven home by dad.

We were driven home by dad.

Which one is in passive voice?

ffepg e A BT

A

! Mohan is painting a house.

Mohan is painting a house.

Al

2 She was reading a book.
She was reading a book.
A3 .
~~ Her birthday was celebrated by us.
Her birthday was celebrated by us.

54 I have seen that movie.

I have seen that movie.

Which one is NOT a conjunction?

P I T o el 82

Al And

And

But

.A4 On

On

Which one is NOT a benefit gf tl;e role playing?

f¥repT UM BT S Tl 82

.Al Builds confidence

STHIYE VT PRaT &

{\2 Develops listening skill

T BT HIN [IB R FxaT 8

A?’ Develops creative problem-solving skill

SIS FHET-GHIHT DI fapRId &dr g

A4 Develops boredom

Sifad YT PRar g

Which one is NOT a vowel?

P I TR T8l 82

Al
La

A2

Employability Skills

Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0







Draughtsman Civil - 1st Year - Set 2

S.No. Correct Answer Key
39 A4
40 A3
41 A1
42 A4
43 A1
44 A2
45 A4
46 A3
47 A4
48 A3
49 A3
50 A2
51 A3
52 A2
53 A2
54 A1
55 A3
56 A2
57 A4
58 A3
59 A4
60 A3
61 Ad
62 A2
63 A2
64 A2
65 A1
66 A4
67 A2
68 A4
69 A2
70 A1
71 A1
72 A3
73 A4
74 A4
75 A3

S.No. Correct Answer Key
1 A1
2 A3
3 A2
4 A4
5 A2
6 A1
7 A3
8 A4
9 A2
10 A1
11 Ad
12 A2
13 A1
14 A3
15 A1
16 A2
17 A3
18 A4
19 A2

20 A3
21 A3
22 A3
23 A3
24 A4
25 A3
26 A1l
27 A4
28 A1
29 A4
30 A1
31 A4
32 A3
33 A1
34 A2
35 A2
36 A3
37 A1
38 A2
Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"
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